January 1999       Forest Ecosystem Classifications for Upper and Lower North East

APPENDIX 4


































































 






























































































6592a11



Forest Type 97





Easting < 508025





Easting > 508025


Ecosystem 20





Easting < 489988


Ecosystem 56





Easting > 489988


Ecosystem 20





Northing < 6695131


Ecosystem 128





Northing > 6695131


Ecosystem 3





annual 


rainfall < 1364





annual 


rainfall > 1364








meas = 0.0791


pval = 0.0185


std = 0.0331





meas = 0.1487


pval = 0.0000


std = 0.0223





meas = 0.1478


pval = 0.0001


std = 0.0377





meas = 0.1825


pval = 0.0001


std = 0.0447





minimum temperature 


< 34


Ecosystem 7





northing > 6645675


Ecosystem 105





mean temperature < 134


Ecosystem 110














1689a60








northing < 6645675


Ecosystem 49





minimum temperature 


> 47


Ecosystem 36





driest quarter 


rain < 168


Ecosystem 42








minimum temperature 


< 41


Ecosystem 59








mean 


temperature < 167


Ecosystem 102





northing > 6700356


Ecosystem 35








northing < 6671038





northing < 6700356


Ecosystem 91











annual rainfall > 2005 and northing < 6748688


Ecosystem 57





Forest types 60, 61, 62 and mixed type 62/74 amalgamated





meas = 0.0762


pval = 0.0014


std = 0.0255





meas = 0.0692


pval = 0.0004


std = 0.0214





meas = 0.0497


pval = 0.0003


std = 0.0143





meas = 0.0419


pval = 0.0269


std = 0.0217





annual 


rainfall > 1137


Ecosystem 52








minimum temperature 


> 41








meas = 0.0399


pval = 0.0007


std = 0.0126





meas = 0.0445


pval = 0.0292


std = 0.0182





meas = 0.027








meas = 0.0595


pval = 0.0000








driest quarter 


rain > 168








meas = 0.0494


pval = 0.0015


std = 0.0166





meas = 0.0464


pval = 0.0000


std = 0.0085





meas = 0.0440


pval = 0.0000


std = 0.0073





meas = 0.0348


pval = 0.0000


std = 0.0063





meas = 0.0357


pval = 0.0002


std = 0.0101





meas = 0.1420


pval = 0.0000


std = 





meas = 0.0861


pval = 0.0094


std = 0.0324





mean temperature > 134





meas = 0.0481


pval = 0.0046


std = 0.0146





northing > 6805975








northing < 6805975





min temp 


> 34


Ecosystem 134





minimum temperature 


< 47





northing > 6671038





soil fertility > 5


Ecosystem 102





Minimum 


temperature < 13








(annual rainfall < 2005) or (annual rainfall > 2005 and northing > 6748688





northing > 6475094





northing < 6475094





annual 


rainfall < 1137


Ecosystem 59





soil fertility < 5


Ecosystem 152





moisture index > 75





moisture index < 75


Ecosystem 102





mean 


temperature > 167





Minimum 


temperature > 13





Forest types 117 and 119 amalgamated





annual


rainfall < 2000


Ecosystem 48








annual


rainfall  > 2000 


Ecosystem 74











meas = 0.1523


pval = 0.0000


std = 0.0017





geology > 10


Ecosystem 65








meas = 0.1002


pval = 0.0000


std = 0.0309





geology < 10


Ecosystem 74





meas = 0.0973


pval = 0.0000


std = 0.0241





minimum temp > 28.93








miniminum temp < 28.93








meas = 0.1132


pval = 0.0000


std = 0.0197








soil depth > 1215


Ecosystem 74








soil depth < 1215





soil fertility > 2


Ecosystem 35








soil fertility < 2


Ecosystem 93 











driest quarter rainfall < 180














driest quarter rainfall > 180











Forest type 122





meas = 0.1811


pval = 0.0000


std = 0.0398





annual 


rainfall > 1070


Ecosystem 38








annual 


rainfall < 1070


Ecosystem 149





meas = 0.0839


pval = 0.0010


std = 0.0271





meas = 0.1146


pval = 0.0000


std = 0.0266








Forest types 40 and 41 amalgamated








soildepth > 1195


Ecosystem 27








soil depth <1195


Ecosystem 37





meas = 0.1113


pval = 0.0000


std = 0.0191





meas = 0.0581


pval = 0.0000


std = 0.0143








mean temperature >=181


Ecosystem 21








mean temperature < 181


Ecosystem 54





meas = 0.0503


pval = 0.0001





minimum 


temperature>=36








minimum


temperature < 36


Ecosystem 53








Forest types 80, 82 and 85 amalgamated








Soil fertility >5


Ecosystem 80











geology > 11


Ecosystem 80








geology <11


Ecosystem 2








meas = 0.0554


pval = 0.0145


std = 0.0253





meas = 0.0817


pval = 0.0051








Soil fertility <5








Forest type 159








meas = 0.1428


pval = 0.0006


std = 0.0441








minimum temperature <4


Ecosystem 87











minimum temperature > 4


Ecosystem 90








Forest type 153








annual 


rainfall >=1304


Ecosystem 25








annual 


rainfall < 1304


Ecosystem 126





meas = 0.0670


pval = 0.0001


std = 0.0174











Forest types 39 and 76 amalgamated














annual


rainfall > 831.5


Ecosystem 58





annual


rainfall < 831.5


Ecosystem 44





meas = 0.1135


pval = 0.0013


std = 








Mixed forest type 92/93








meas = 0.2475


pval = 0.0012


std = 0.0815





annual 


rainfall < 1030.75


Ecosystem 75





annual


rainfall > 1030.75


Ecosystem 158











Mixed forest type 70/74








meas = 0.1129


pval = 0.0011


std = 0.0369





driest quarter 


rainfall > 260


Ecosystem 82








driest quarter rainfall <260


Ecosystem 28








meas = 0.1266


pval = 0.0000


std = 0.0160





northing > 6567938


Ecosystem 90








northing < 6567938











Forest type 152








annual


rainfall < 1825


Ecosystem 68








annual 


rainfall > 1825


Ecosystem 94








slope > 17.75


Ecosystem 107








meas = 0.0730


pval = 0.0006


std = 0.0226








slope< 17.75





meas = 0.0911


pval = 0.0000


std = 0.0218











Forest type 151








mean


temperature > 138


Ecosystem 35








mean 


temperature < 138


Ecosystem 110





meas = 0.1111


pval = 0.0005


std = 0.0335











Forest type 123








Forest type 126





meas = 0.0703


pval = 0.0055


std = 0.0276











soil fertility <2


Ecosystem 3











soil fertility > 2


Ecosystem 23








1000m ruggedness index < 31.25


Ecosystem 92





driest quarter


rain > 168


Ecosystem 29





driest quarter


rain < 168


Ecosystem 111





mean


temperature > 131.25


Ecosystem 8





mean 


temperature < 131.25


Ecosystem 110





mean


 temperature <120


Ecosystem 107





meas = 0.0803


pval = 0.0001


std = 0.0191





meas = 0.0489


pval = 0.0001


std = 0.0100





meas = 0.0567


pval = 0.0121


std = 0.0207





meas = 0.0327


pval = 0.0016


std = 0.0077





1000m ruggedness index > 31.25





annual


rainfall > 1447.38


1689g14





annual


rainfall < 1447.38





meas = 0.0766


pval = 0.0000


std = 0.0182








mean


temperature > 120





meas = 0.0435


pval = 0.0000


std = 0.0047








northing > 6514263








northing < 6514263











Forest types 168 and 169 amalgamated








Forest type 46








northing > 6458475


Ecosystem 19








northing < 6458475


Ecosystem 137





mean 


temperature < 124


Ecosystem 19





northing > 6674756


Ecosystem 100





meas = 0.0504


pval = 0.0000


std = 0.0118





mean


temperature > 124





meas = 0.0774


pval = 0.0000


std = 0.0000





meas = 0.0543


pval = 0.0000


std = 0.0088











northing < 6674756








Northing  >= 6679338


Ecosystem 103








Northing  <  6679338


Ecosystem 157





Minimum


temperature > 55


Ecosystem 106








northing > 6816870


Ecosystem 50








northing < 6816870


Ecosystem 106





Minimum


temperature < 16.75


Ecosystem 157





meas = 0.0495


pval = 0.0095


std = 0.0169





meas = 0.0375


pval = 0.0000


std = 0.0061








Minimum


temperature < 55








meas = 0.0378


pval = 0.0279


std = 0.0145





Minimum


temperature > 16.75





meas = 0.0632


pval = 0.0000


std = 0.0102





Annual


rainfall < 1448.38


Ecosystem 109





Annual


rainfall > 1448.38


Ecosystem 50











Forest type 53








meas = 0.0700


pval = 0.0262


std = 0.0309





meas = 0.0543


pval = 0.0066


std = 0.0179





Minimum


temperature > 57





Minimum


temperature < 57





meas = 0.0521


pval = 0.0000


std = 0.0097











Geology > 11








Geology  < 11





Forest type 163





meas = 0.0862


pval = 0.0000


std = 0.0112





annual rainfall > 2016





annual rainfall < 2016





meas = 0.1793


pval = 0.0000


std = 0.0186





1000m ruggedness 


index > 42


Ecosystem 148





1000m ruggedness index < 42





meas = 0.0298


pval = 0.0000


std = 0.0043





moisture


 index <85





moisture


index > 85





meas = 0.1188


pval = 0.0158


std = 0.0506





soil depth > 1200


Ecosystem 39





soil depth <1200


Ecosystem 140





meas = 0.0592


pval = 0.0013


std = 0.0162





meas = 0.0257


pval = 0.0036


std = 





annual 


rainfall < 1069


Ecosystem 35





annual 


rainfall > 1069








meas = 0.0380


pval = 0.0000


std = 0.0059





geology = 5, 6 or 10


Ecosystem 41








geology = 3, 4 or 11








minimum temperature < 3





minimum temperature > 3








meas = 0.0582


pval = 0.0000


std = 0.0116





meas = 0.0312


pval = 0.0000


std = 0.0023





meas = 0.0365


pval = 0.0168


std - 0.0125





mean temperature < 137.5





mean temperature > 137.5








mean 


temperature > 125








mean 


temperature < 125








annual 


rainfall > 1158


Ecosystem 60





annual 


rainfall < 1158





meas = 0.0841


pval = 0.0000


std = 0.0184





meas = 0.0374


pval = 0.0156


std = 0.0127





geology = 6


Ecosystem 41





annual 


rainfall >1334


Ecosystem 30








annual 


rainfall <1334





meas = 0.0212


pval = 0.0016


std = 0.0038





geology ( 6








meas = 0.0458


pval = 0.0062


std = 0.0143








northing > 6601188








northing < 6601188





500m ruggedness index > 35


Ecosystem 35





500m ruggedness index < 35





geology ( 4


Ecosystem 90








geology = 4


Ecosystem 41





meas = 0.0964


pval = 0.0033


std = 0.0318





meas = 0.0603


pval = 0.0028


std = 0.0182





northing > 6564375


Ecosystem 41








northing < 6564375


Ecosystem 108





northing < 6479800


Ecosystem 6





meas = 0.0385


pval = 0.0002


std = 0.0079





northing > 


6479800





meas = 0.0672


pval = 0.0173


std = 0.0271





annual rainfall > 1002








annual rainfall < 1002


Ecosystem 41





north > 6701388


Ecosystem 41





north < 6701388


Ecosystem 60





meas = 0.0415


pval = 0.0


std = 0.0181





annual 


rainfall > 1412


Ecosystem 88





annual 


rainfall < 1412





meas = 0.0773


pval = 0.0205


std = 0.0329





meas = 0.0578


pval = 0.0056


std = 0.0189





meas = 0.0412


pval = 0.0049


std = 0.0121





mean temperature 


> 136


Ecosystem 60








mean temperature 


< 136


Ecosystem 41





annual 


rainfall > 1373


Ecosystem 88








annual 


rainfall < 1373


Ecosystem 60





500m topographic index > 16


Ecosystem 88





500m topographic index < 16


Ecosystem 30





Forest type 48





meas = 0.0825


pval = 0.0016


std = 0.0279





Minimum


temperature > 55


Ecosystem 154





Minimum


temperature < 55


Ecosystem 26








Forest type 38





meas = 0.0439


pval = 0.0000


std = 0.0089








easting > 506475


Ecosystem 97








easting < 506475





meas = 0.0864


pval = 0.0061


std = 0.0344





Annual


rainfall > 1360


Ecosystem 97





Annual


rainfall < 1360


Ecosystem 3








Forest type 47





meas = 0.0407


pval = 0.0000


std = 0.0038











northing < 6706038


47g1








northing > 6706038


47g2





meas = 0.1445


pval = 0.0001


std = 0.0384





meas = 0.0546


pval = 0.0000


std = 0.0084








northing > 6737675








northing < 6737675





Mean temp > 160.5


Ecosystem 135





Mean


temperature < 160.5





meas = 0.1703


pval = 0.0001


std = 0.0415





Minimum


temperature > 51


47g40





Minimum


temperature < 51


Ecosystem 78





meas = 0.0438


pval = 0.0004


std = 0.0131





meas = 0.0566


pval = 0.0351


0.0312








northing < 6445219


Ecosystem 135








northing  > 6445219








Minimum


temperature > 46.25


Ecosystem 104





Minimum


temperature < 46.25





meas = 0.0483


pval = 0.0005


std = 0.0117








meas = 0.0333


pval = 0.0394


std = 0.0132





annual rainfall < 1295


Ecosystem 69





annual rainfall > 1295





500m ruggedness 


index > 45


Ecosystem 104








500m ruggedness 


index < 45


Ecosystem 150





meas = 0.0638


pval = 0.0035


std = 0.0199





1000m ruggedness


 index > 95.75


Ecosystem 69





1000m ruggedness


 index < 95.75


Ecosystem 84





Forest types 36 and 37 amalgamated





meas = 0.0594


pval = 0.0000


std = 0.0045





moisture


index < 85








moisture


index > 85








meas = 0.0551


pval = 0.0035


std = 0.0204





meas = 0.0672


pval = 0.0001


std = 0.0173





geology = 9


Ecosystem 40





northing


( 67373875





northing <


< 6737387.5





geology ( 9





meas = 0.0655


pval = 0.0000


std = 0.0094





meas = 0.0821


pval = 0.0006


std = 0.0252





northing (


6783963


Ecosystem 95





northing < 6783963


Ecosystem 40





northing ( 6686063


Ecosystem 101





northing < 6686063





meas = 0.1041


pval = 0.0038


std = 0.0389





250m ruggedness


index < 4


Ecosystem 72





250m ruggedness index ( 4








meas = 0.0394


pval = 0.0002


std = 0.0109








annual 


rainfall < 1429.63


Ecosystem 153





annual 


rainfall < 1429.63


Ecosystem 34





meas = 0.0202


pval = 0.0000


std - 0.0025





mean


temperature < 162





mean


temperature ( 162





meas = 0.0390


pval = 0.0022


std = 0.0102





meas = 0.0485


pval = 0.0001


std = 0.0112





driest quarter


rain > 213


Ecosystem 155





driest quarter


rain < 213


Ecosystem 32





driest quarter


rain > 284


Ecosystem 83





driest quarter


rain < 284


Ecosystem 67





Mixed forest types 70/72 and 72/74 amalgamated 


type 72





meas = 0.1185


pval = 0.0000


std = 0.0304





minimum 


temperature ( 55


Ecosystem 74





minimum 


temperature < 55


Ecosystem 119














Forest type 70 amalgamated with forest type 74





meas = 0.0505


pval = 0.0000


std = 0.0039





mean


temperature > 181





mean 


temperature < 181





meas = 0.0858


pval = 0.0000


std = 0.0152





meas = 0.0274


pval = 0.0176


std = 0.0125





northing < 6685631





northing > 6685631








driest quarter 


rain < 150


Ecosystem 70





driest quarter 


rain > 150








meas = 0.0640


pval = 0.0000


std = 0.0110





annual 


rainfall < 1246


Ecosystem 24





annual 


rainfall > 1246








meas = 0.0648


pval = 0.0007





wetness 


index > 179


Ecosystem 89





wetness 


index < 179





meas = 0.1191


pval = 0.0000


std = 0.0195





meas = 0.0453


pval = 0.0000


std = 0.0062





northing 


> 6703388


Ecosystem 24





northing 


< 6703388


Ecosystem 55





annual 


rainfall < 1372


Ecosystem 33





annual 


rainfall > 1372








meas = 0.0507


pval = 0.0007


std = 0.0127





minimum temperature < 55


Ecosystem 89





minimum 


temperature > 55


Ecosystem 55








Annual rainfall 


> 1030.75


Ecosystem 47





Annual rainfall <1030.75


Ecosystem 139





Moisture index > 58.5








Moisture index <58.5


Ecosystem 99





m=0.056


p=0.0003


std=0.0135








Minimum 


temperature > 59


Ecosystem 73











Minimum 


temperature


 < 59








m=0.0457


p=0.0000


std=0.0046











m=0.0429


p=0.0007


std=0.0103





m=0.1072


p=0.0284


std=0.0510








Forest type 71








Annual rainfall >1256


Ecosystem 24








Annual rainfall <1256


Ecosystem 118











1

